
MG1 (nom 125V) 
V I (ua) 
10 0.2 
20 0.3 
30 0.3 
40 0.4 
50 0.4 
60 0.5 
70 0.6 
80 0.6 
90 0.6 

100 0.8 
110 1.1 
120 1.2 
130 1.3 
140 1.5 
150 1.7 
160 1.8 

 
MG3 (nom 135V) 
V I (ua) 
10 0.1 
20 0.2 
30 0.2 
40 0.2 
50 0.2 
60 0.2 
70 0.2 
80 0.2 
90 0.3 

100 0.3 
110 0.3 
120 0.4 
130 0.4 
140 0.5 
150 0.6 
160 0.8 
170 1 
180 1.3 
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MG4 (nom 95V) 
V I (ua) 
10 0 
20 0 
30 0 
40 0 
50 0 
60 0.1 
70 0.3 
80 0.6 
90 0.9 

100 1.6 
 

MG5 (nom 140V) 
V I (ua) 
10 0 
20 0 
30 0 
40 0 
50 0 
60 0 
70 0 
80 0.1 
90 0.1 

100 0.1 
110 0.2 
120 0.3 
130 0.5 
140 0.9 
150 1.4 
160 2 
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MG7 (nom 125V) 
V I (ua) 
10 0.1 
20 0.2 
30 0.2 
40 0.2 
50 0.2 
60 0.3 
70 0.3 
80 0.4 
90 0.4 

100 0.5 
110 0.9 
120 1.8 

 
MG11 (nom ??V) 

V I (ua) 
10 0.2 
20 0.4 
30 0.5 
40 0.5 
50 0.6 
60 0.6 
70 0.6 
80 0.6 

 
 
Detectors seems to respond accordingly with the previous measurements from 
Marlène. Annular detector curve is quite strange… 
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